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Computer Science – Note Sheet #3
C++ provides the switch multiple-selection structure to handle a series of decisions in which a variable or expression is tested separately for each of the constant ordinal values it can assume.  Assignment 2b is such a situation.  The syntax of the switch structure is:

int month;

switch (month)

{

  
case 1: cout<<“January\n”;break;


case 2: cout<<“February\n”;break;


.



.


.


default: cout<<“The number must be between 1 and 12, inclusive\n”;



break;

}

The default is optional and catches all other entries.  In this case it is an error checking devise.  The break transfers control to the next instruction following the switch to save time.

The other two repetition structures  while and  do/while have the following syntax:

while (condition) 

{

   
body of loop;

}

do {


body of loop;

    } while (condition) ;

For example


while (month != -1) 

would control an input loop.   If month ≠ -1, the code in the loop would be executed.  The input statement for giving month a value should be the last statement in the loop, so that when the condition is checked, no part of the loop will be executed. 

Assignment 3a

Rewrite 2b using the switch statement and a while loop as in the example above.  

Assignment 3b (Extra Credit)

There has been a break down in some highly confidential communications within your organization.  You have been asked to devise a very simple code for which only the privileged parties will have the decoder.  You choose to use letters to represent letters in a random pattern.  The following table gives the code

    actual
   encoded
    actual
   encoded
    actual
   encoded


a

g

j

b

s

n


b

z

k

u

t

k


c

m

l

o

u

t


d

r

m

s

v

v


e

w

n

d

w

x


f

a

o

f

x

q


g

c

p

y

y

e


h

i

q

h

z

j


i

p

r

l

Write a decoder.  Each message will end with two periods (..).  If you define 


char chr;

to hold the characters in the code, instruction cin>>chr ignores spaces which makes a message difficult to read.  Use cin.get(chr)  Decode these messages as your test data.  (Please resist the desire to decode by hand).  Your program should output the decoded message.  It is not necessary to make your decoder case-sensitive unless you wish to.
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